Dynamic Planet Practice Test Answer Sheet

1. B

2. C

3. A

4. C

5. B

6. D

7. B

8. C

9. A

10. D

1. J

12. K

13. H

14. E

15. B

16. A

17.  F

18. L

19. D

20. 1

21. G

22. N

23. M

24, C

25. O

26. Piedmont Glacier

27.  Drumlin

28.  Depositional

29. To the right

30.  Ribbed Moraine/Ribbed Terrain
31. Horn

32.  Multiple cirque glaciers eating away at the sides of a mountain peak
33. Alps

34. Chattermarks

35.  To the northeast

36. Esker

37.  North/South (or South)

38.  Kettle Ponds

39.  Unstratified

40. Thelon Esker

41. Siachen Glacier, China

42.  Fedschenko Glacier, Tajikistan
43.  Chile receives much more precipitation than Siberia
44. Huronian (2.4-2.1 bya), Cryogenian (800-685 mya), Karoo (360-200 mya),



45.
46.

47.
48.
49.

50.

Quaternary/Pleistocene (2.5-0 mya)

Cryosphere

Some areas are receiving greater amounts of precipitation (e.g. parts of Alaska), a few
areas of the world have gotten colder.

Ablation triangle

Stick three sticks into the ice of a glacier at equal elevations.

The stick pointing at the zone of accumulation will have gained height relative to the other
two; the opposite for the stick pointing at the zone of ablation.

Answers may vary



